
1 | P a g e 

 

  
 

June 22, 2018 
 

ExtReme Chassis 
 

1964-72 Chevelle 

 

 
 
 
 

Photo above shows optional stainless fuel tank and supercharged LS drive train. Call us 
for more details on those parts!  
 
The following instructions are intended for professional installers and are guidelines only. 
Speedtech Performance assumes NO responsibility for the installation of any of its 
products. All products are intended for off road use only and must be installed by qualified 
professionals.  

 
 



2 | P a g e 

 

 

 
 

 
 



3 | P a g e 

 

 
Thank you for purchasing your new Speedtech ExtReme Chassis kit. Installing this 
product will require the removal of your old frame, engine and transmission from the 
car. Take all necessary precautions whenever jacking up your vehicle and use safe 
and sturdy jack stands to support the vehicle whenever it is off the ground. Be sure 
to take all other safety precautions required to do the job correctly. 
 
 Read all instructions thoroughly before beginning any assembly. For the 
most part, initial assembly and set up of your new suspension can be done in a 
home garage with simple hand tools. Included in these tools should be a quality 
torque wrench, anti-seize lubricant, blue Loctite, and suspension grease. As your 
final step, go over each assembly step again to be sure all fasteners are correctly 
secured.  
 
 Once assembled you will need a professional wheel alignment performed. 
Driving the vehicle without a proper alignment can be dangerous, towing is 
recommended. Info on setting toe close enough to drive onto a trailer is with our 
performance alignment instructions on page 31. 
 
 After assembly you still have work to do. While Speedtech's ExtReme 
suspension systems work great as a replacement for your factory street driver 
suspension, they are also designed to meet the needs of those intending to race 
their vehicles on a regular basis. Part of having this versatility includes some 
anticipated adjusting and tuning of the suspension to achieve maximum 
performance results for each vehicle, individual driver and type of racing. Some of 
this, such as tuning sway bars and shock settings, can be done track side through 
making adjustments and seeing/ feeling how the car reacts to these changes. Tip: 
We also recommend a good quality air pressure gauge and tire probe pyrometer be 
in your track side tuning kit. Infrared pyrometers register surface temps and do not 
properly indicate internal tire temps for tuning purposes. 
 
 Other adjustments, such as tuning bump steer and caster may require 
specialized equipment and professional help. Speedtech's technical department can 
share insight on making some of these adjustments, however we are somewhat 
limited to how much help we can offer over a phone call. If you require help with a 
more thorough chassis set up for a specific racing application we recommend a 
reputable professional coach such as Ron Sutton Race Technologies. These 
resources can be a great help in getting the most out of your particular car.  
 
Good luck and enjoy your build! 
 
 

 



4 | P a g e 

 

 
Additional parts you will need: 

 
¶ LS Oil Pan 

¶ LS Engine Starter Motor 

¶ LS Engine Adapter Plates 

¶ Engine to frame Motor Mounts 

¶ Headers 

¶ Transmission mount 

¶ Steering Shaft Kit 

¶ Custom Brake Line Kit 

¶ 12mm x 1.5 Lug Nuts 
 

LS Oil Pan- Factory LS oil pans will have clearance issues and will not work. Other aftermarket 
pans may work however we have not test fit any outside of our Speedtech fabricated pans.  

 
Speedtech offers two types of LSx oil pans for use with our sub frames. Pictured 
above is the ATS # 70003 LSx Road Race oil pan. It features internal baffling, trap 
doors and a windage tray. It also features bungs and fittings for remote oil filter 
mount, oil pressure and temp gauges, and turbo oil line.  
 
 
 
 



5 | P a g e 

 

 
Also available from Speedtech is the ATS # 70004 LS7 and LS9 dry sump oil pans. 
These pans feature all internal and external passages for the use of a dry sump 
style oiling system. Please call us at 435-628-4300 for more details. 

 
Engine Starter- For the most amount of clearance we suggest using a GM starter for 
a 2005-2007 Corvette, or equivalent Powermaster #9201. Speedtech does not carry 
these starters.  
 
Engine Mounts- When installing your engine you must use an LS motor mount 
adapter plate, we recommend the ATS # 220203 and our Speedtech custom 
machined polyurethane motor mounts # 220530.  

 
Transmission Mount- An Energy Suspension polyurethane transmission mount can 
be purchased from Speedtech, part # 220531. 
 
Headers- Our ExtReme subframes have very tight fitting frame rails for additional 
wide tire clearance and steering angle. If you have not already purchased headers, 
Speedtech has designed 1 7/8" long tube headers specifically for our ExtReme 
frames that fit Chevrolet LSx, engines. They are designed to optimize engine to 
frame clearance as well as ground clearance for lowered vehicles. Please call us at 
435-628-4300 for specific part numbers for your application.  
 

Note: Because we have designed our own headers specifically for Speedtech 
ExtReme frames, we will not be testing any other brand of headers for fitment 
clearance. We do not know what other brands of headers, if any, might fit.  
 

 
 



6 | P a g e 

 

 
Steering Shaft- You will need to order a steering shaft connection for your rack and 
pinion according to your specific vehicle and steering column type. Speedtech offers 
several different configurations that meet most needs. Call us at 435-628-4300 for 
specific part numbers. 
 
Note: It is imperative when setting up and installing the steering shaft that the 
shaft does not protrude beyond the end of the u-joint housing. Damage and 
binding will occur if this is not installed properly. 

 
The steering shaft is typically left long to allow for trimming. Mock up the shaft 
assembly in place and trim as needed to ensure that the correct length is achieved. 
 
When installing the shaft you will find one end is splined to allow the shaft to be 
rotated and ñphasedò to eliminate any binding. You may have to adjust the phasing 
slightly from this initial starting position to allow smooth operation and completely 
eliminate any binding. 
 

 
 
 
Brake Lines- Factory brake lines will not work with an ExtReme frame. Custom 
brake lines must be made up. Refer brake line construction only to those with 
professional level experience. 

 



7 | P a g e 

 

 

Front Suspension Hardware Kit Checklist 
 

A.  
¶ 4- Upper control arm cross shaft bolts   7/16 x 2 ¼" 

¶ 4-  Upper control arm cross shaft nylock nuts  7/16"  

¶ 4-  Upper control arm washers  7/16" 

B. 
¶ 4-  Lower Control arm bolts  9/16 x 3 ½" 

¶ 4-  Lower Control arm nylock nuts 9/16"  

C. 
¶ 3-  Rack mount bolts  ½ x 1" Course 

D. 
¶ 4- 1/2" Shock mount shoulder bolts 3/8"  

¶ 4-  Shock mount nylock nuts 3/8ò Course 

¶ 4-  Shock mount washers 3/8ò. 

E. 
¶ 4-  Engine stand bolts  İ x 1 ıò 

¶ 4-  Engine stand nylock nuts 1/2" 

¶ 4-  Engine stand Washers  1/2" 

F. 
¶ 8-  Transmission crossmember bolts  3/8 x 1 1/4"  

¶ 8-  Transmission crossmember nylock nuts 3/8 

¶ 16-  Transmission mount flat washer 3/8" 

G. 
¶ 2-  Outer tie rod Shoulder bolt 5/8 x 2 ½" 

¶ 2-  Outer tie rod bolt nylock nuts ½" Course 

H. 
¶ 2-  Inner steering tube adjusters 

¶ 2-  Left hand jam nuts for adjuster 

I. 
¶ 2-  Stainless inner tie rod heim spacers .650 tall 

J. 
¶ 4-  Inner / Outer 5/8 tie rod heim Joints right hand  

¶ 2-  Jam nuts 5/8" Right hand for inner heim joint 

¶ 2-  Jam nuts 5/8" Right hand SMALL OUTSIDE DIAMETER for the Heim Joint 
at steering arm end (lower 2 joints in photo) 

K.  
¶ 2-  Tie rod tubes 

L. 
¶ 1 PK outer tie rod heim joint spacers .500 tall 

¶ 1 PK outer tie rod heim joint spacers .250 tall 

M. 
¶ 2-  Bump stops lower (tall cone shape) 

Sway bar mounting hardware is included with the sway bar and billet steering arm hardware is 
included with the steering arms.  



8 | P a g e 

 

      

 
 


